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GRIGNARD REAGENT
DPP - 1

- 9 The order of reactivity of alkyl halide in the reaction R-X + Mg——> RMgX is
(A) RI > RBr > RC| (B) RClI > RBr > RI
(C) RBr > RC| > RI (D) RBr = RI» RCI

Cl
2. Q ~ lequivalent Mg 5 X .0 5 Y: Y is
Br ether
Cl D D
(A) (B) (C) (D) None of these
D Br D

3.  C.H.COOH + CH,Mgl —— ?
(A) C,H,COOMgI  (B) CH, (C) Both A & B (D) none
Br
a + Mg ether
F
Br MagBr
(A) (B) (C) Both (D) None of these
Mgk F
5. R—Broeher o D0 , ¢y cHD, R— Brby Wurtz reaction forms :

(A) CH, CH, CH, CH,

(B) CH, CH, CH, CH, , CH, CH,

(C) CH, CH, CH, CH,, CH, CH,, CH, = CH,
(D) CH, CH, CH, CH,, CH, = CH,

i

O O 7 j
(i) R - Mg — X AN Y RMgx N kY
* M 1(eq.) > (A) 4 1ea) (B) o)

(i) 1./OH
(1) H,O/H
a0OH/C: A 03
(F)e NaOH/CaO {E){ fD)
Identify the structure of 'E'.
COOH COOH

HOOC HOOC
b
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-
7_ ;D\ (1}CH,MgBr {1 mole ) , [Jﬂk] NEEHq ;[B]

(If - OCH,
O
Identify the structure of [B] in following sequence of reactions.
O
|
H - C
(A) Ij\ (B) ~
H - ﬁ COCH, B
C-CH.
. |
O
o -~
(C) (D)
N N _~CH.
(I:H_CI_L C—CH.
|
OH OH
Cl
8. _Mgrether . D30 _ Dhelether ., Ay Ks ;

(A) Br

(C) CI—O—O (D) D

O
&

9. 2CH,=CH-CH,-Cl —2, X i > (CH, = CH - CH,),CH- OH + CH, - CH, - OH

Ether FollowedbyH, o
In the above chemical reaction, Y may be

(A) Ethyl formate (B) Methyl formate
(C) Isopropyl methanoate (D) Ethanoylchloride
. Et.O
10. The reaction, BrCH,CH CH,Br + Mg o
produces mainly.
(A) CH,CH,CH, (B) BrMgCH,CH,CH MgBr

(C) ; ; (D) CH,CH = CH,
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GRIGNARD REAGENT

DPP - 2
Oi‘\(w/’OH
[_)-\| i)
1. H RMuX( 2moles)
)
H"““*S
[ 1) )
¢
Il
CH
()
Deprotonation will occur from the following positions:
(A) 1,2 (B) 1,3 (C) any two positions (D) 1,4
2. What will be the order of reactivity of the following carbonyl compounds with Grignard's reagent?
H H | Me,C
N * CHY s T
(1) /t =40 (11) C=0 (I =0 (IV) C=0
H CH{ CH{ Me (7
(AYI>II>1II > IV (B)IV>III>1I>1
(CO)II>1>1V > 1III (DYIII>IT>1>1V
3. The reaction of 1 mole each of p-hydroxy acetophenone and methyl magnesium iodide will give
i i
(A) CH, + IM:_-:O—@ (—CH,  (B) CHA)—@ ¢Ch.
OMel Mel
I
(C) ('11:4—@014 (D) CH,0— () C—CH,
CH,
4. 111(1—(Il'} —(—()(ll; (1) PhMeBr (excess ) y P,
| (1) HAO
O
Pis :
CH; Ph Et (‘"H;
| | | ,
(A) Et—=C—Ph (B) Et - C - Ph (C) Et—C - Ph (D) Et—C—-CHy
| | | |
OH OH OH OH
5. (CH,), CMgCI on reaction with D,O, produces :
(A) (CH,), CD (B) (CH,),COD
(C) (CD,),CD (D) (CD,), COD
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O
6. Ph—-MgBr + (CH3}2—CH—{J_“|,—CI —3:[X] __argiticd | [¥]
1 mole
Identify strucutre of [Y].
(A) Ph-CHy -CH-CHj (B) Ph-CH-CH», - CHj3
‘I3H3 £[:H3
CHs

I
(C) F’h—ﬂf—CHa (D) @CH, — CH, — CH.
CHs CH.
Br
7. @\/ CH3MgBr 5 (A)
CH=0 &)

Identify A
CH
CH.
8. What is the major product of the following reaction?

CHMgl = HO N

E[-J |

__ OH O~ o
(A)C[ (B)O: (C)C[i CH (D)C o
CH - OH CH, - CH, CH T

9. : ; (Q(/( H CH ;MgCl 3
H-0
(A) CH; -~ CH - CH,OH (B) CH, - CH - CH, - CH
CH; OH
(C)CH3~$H~C$h (D) HO - CH, - CH, - CH, - CH,, - OH
CH,

A

10. (i) \(/ + Ph Mg Br —— Ph CH, CH, OH

(n)‘ + Ph Mg Br —2 > Ph CH, CH, CH, OH

)
(A)r, >, (B)ry >r,
(C)r,=r, (D)r, = 2r
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GRIGNARD REAGENT

DPP - 3
1. Order of rate of reaction of following compound with phenyl magnesium bromide is:

@) . O

- T |

Mc-C-Cl Me-C-H Me—-C-0O-Et
I 1 |
(A)YI > II > III (BYII>III > 1 (CYIIT = 15 1 (D)YII > 1> 111

2. Select the correct order of decreasing reactivity of the following compounds towards the attack of

Grignard reagent

(I) Methyl benzoate (II) Benzaldehyde (IIT) Benzoylchloride (IV) Acetophenone
(A)II>III>1>1V (B) 111 = IV 1l 21

(OII>II>1IV>1 (D)1 = IV >1 &= Il

3. Which of the following reacts faster with RMgX.

] ‘? ‘rr ?'
(A) R—-C-Br (B) R—C—H (C) R-C-0OEt (D) R=C~NH;
4. Select the correct order of reactivity towards Grignard reagent for nucleophilic attack.

I i

(A) R—C-R s R—C—H

(B) CH, - C—H > CI--(I“- H
i

O O
I 1
(C) (‘1-1;(‘0@ NO, < CH;-C o@

9
|
(D) R—C-OR > R-C - NR,

5. In which one of the following reaction products are not correctly matched in
[1) 0,
(A) RMgX + CO, = ”;: > Carboxylic acid
(11)
(B) RMgX + C,H_.OH —> Alkane
(C) RMgX + CH,CH,Cl —> Alkene
(D)RMaX + (17 N0 N > Ether
Br
iy He alC O
° Q/ e, (A) %2, (B) ———2(C) gas
(imiH. < Hs0
Product C is
(A) CO (B) 1°CO;
(C) CO, (D) A mixture of 14CO, and CO,
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Br
. Mo ether
7. @/ : g el > Product (s)
3 CHLCHCHACH 3 HL0

OH (0
Select the product from the following

[ : @ s CH.LHCH,(CH I1]: (‘l-];?l-](‘[-l:({]--l
| |
OH O OH OH
(A) III (B) I, III (C) 1, I (D) 11, III
(HCHAON (i) RMuX _
8. RMgX — " (A) RN (B) will be
(A) 1° ROH (B) 2° ROH (C) 3° ROH (D) Alkene
O
9. C;H.O-C-OC,H, =t:Medr A, Product A formed

(A) is ethyl acetate

(B) further react with CH;MgBr/H,0O* to give acetone
(C) further react with CH;MgBr/H,0O* to give t-butyl alcohol
(D) Cannot give pinacol when treated with Mg followed by H,O

10. Which of the following is incorrect.

|
(A) (7 NOCH, — s CH; ~C-OC,H,
=0 [ Teq)
JOCH, 7
(B) CH,(—OC H.———*=— CH;-C-0C,H.
e o T (leq)
OC,H.
> S
| |
(C) CHyMgX + C =S —22» (CH,-C-SH
O O

| 1.0 - |
(D) CH,MgX + ¢ = 0—=— CH,-C-OH

(1)CHCN (1) RMeX '
——>(A) T——~n o (B) will be
() aq. NH (' (11) aq. NH (1]

11. RMgX

(A) 1° ROH (B) 2° ROH
(C) 3° ROH (D) Alkene

12. Compounds are shown with the no. of RMgX required for complete reaction, select the incorrect
option
(A) CH;COOC, H. 1
(B) CH,COCI 2
(C) HOCH,COOC,H. 3

OH

(L) CHO 4

COOCHII;

L--@--------------------------------@J



r————————————————————————————————————————————————————————————————————————————————————1

13. The number of moles of grignard reagent consumed per mole of the compound

| i(_')\/\n/\/f(_')(_') Et is:
O
(A) 4 (B) 2 (C) 3 (D)1

14. How many moles of Grignard reagent will be required by one mole of given compound?

o g
H( C - OFt
ﬁ—(‘l
CH. -(l"il: 0
Cl
(A) 7 (B) 6 (C) 8 (D) 5
O
15. CH,=CH-C-H WUHMeBrCuCl o praquct (1, 4 addition). It is
(n)H O
OH
(A) CH, =CH-C - H (B) CH,CH =CH-CH,
|
CH., OH
(C) CH,CH,CH,CHO (D) none

16. In the reaction sequence:
()

(1)CH MgBr Cu(] )
: . > (X) Major + (Y)
(i)H,0 H'

(X) & (Y) respectively are

()] ] CH, OH
(A) , @ (B) &L
CH,

ClH, H
CH, Ef’
0 HO  C11. HO_ CH, 0)
ClHy ﬁ : ( H;
(C) , (D) , C:[
OH CH; CH, O

17. Which method is not a good method for preparation of ketone

(A) H,C-C-Cl + (CH,), Cd—>
|
O

(B) H;C--?--Cl + (CH,), Culi ——>
O

(D) H_:C ( Cl + CHEMgBr. 5
|
O
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